Example

Finel a po[\/ﬂomm‘ of ofe,%f‘eé’» U it
) Zeros af x=-4 ,x=3, x=&

DN F0)=~16

iy F(xX) >0 only on (3,3)

. Start with j’h«i Dﬂmé’w [ine W{H/‘ Hre ZEXOS

?

o

LY

labelle i —F——F———— 5

-4 a .2
From (i), we con |abe] Hw ntervals where Fx)
B posfﬁ'\/é and VLL%H\/@,C 5 S ) e = icﬂ

_y N
Sivce  the sfcz(ﬂ o £(xY does pot cham‘%p, ot W
zero x==F +his zero has even vudfiplicity,
Since. Hie ’:5!%-{/1 on pCXS O(.oes cf/lam cﬁ" %&Le, Zefog‘
x=8 and x=3, tfhese zeres have even mudtiphar,

/ .
2 e | /“M\A

Then L0 =k x+8)2 (x- ) (x-3).
Note £(x) has d&%r‘e,é 4.
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